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The figures in the margin indicate full marks
for the questions.

- Question No. 1 is compulsory and answer
any five from the rest of the questions.

1. Choose the correct option : - 1x5=5

(a) Which of the following methods is used by
bottom-up parser to generate a parse tree ?

(i) Leftmost derivation
. (ii) Rightmost derivation
(i) Leftmost derivation in reverse

(iv) Rightmost derivation in reverse
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Explain the different phases of. compiler
with suitable examples.

®) _Eliminate Left recursion for the following

| | S S+S/S-8/S*S/um.

(c) Perform Left factoring for the following.
grammar : o ' 3
A->aBcC/aBb/aB/a .

B—>s“
- C-e.

4." (a) What is LEX ? Write structure of Lex 'pro-

- gramme. “ 3+4=7
(b) Usmg parsing table show that the given

grammar is LL (1). . 8

E->E+T/T | - |

T—>T*F/F

F—(E)/id.

3. What is Top-down and Bottom-up parsing ? Define
~ handle and handle pruning. Explain shifi-reduce
parsing with stack implementation.  5+4+6=15
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6. (a)

(b)

(a)
(b)

- ©

@
@

Explain LR parser with different components.
Construct the LR (0) items and the SLR
parsing table for the following grammar :
E->E+T/T '
T—>T*F/F -

Fo>@®)id.

Write short notes on any three : 5x3=15

LL (1) grammar
Regular Expression

Role of ?arser A
Context Free Graminar (CFG).

Predictive Parser.
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